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Note : Attempt five questions in all including Question No. 1

which is compulsory.
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Compulsory Question ( AfEE q9T)

Define assessee.

Define dividend.

Give four taxable allowances.
What is Public provident fund ?

What is Section 54F under capital gain ?
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2.

(a) What is agriculture income ?

(b) How to find out residential status of an individual ?
15
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Define annual value and state the deductions that are allowed
from the annual value in computing income from house

property. 15
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Compute the taxable salary of Gopi Devi for the assessment
year 2020-21 :

(a) Basic Salary Rs. 16,000 p.m.

(b) Dearness allowance Rs. 4,000 p.m. (as per the term of

employment).
(c) Bonus Rs. 16,000 p.a.

(d) Rent free accommodation provided by the employer at
Kanpur, the fair rent value of which is Rs. 60,000 p.a.
The cost of furniture provided therein Rs. 20,000.

(e) Entertainment allowance Rs. 1,000 p.m.

(f) Her contribution to Recognised Provident Fund is 15%.
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(g) Employer contribution to recognized provident fund is
Rs. 30,000 p.a.

(h) Interest on recognized provident fund balance at 9.5%
p.a. is Rs. 19.000.

(i) Free use of a large motor car for both official and
personal purposes. A driver is also provided by the
employer. 15
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5. In computing income from business what are the provisions

relating to the following expenses :

(a) Expenses on scientific research.

(b) Bad debts. 15
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6. Explain the following :
(a) Capital abet.

(b) Computation of capital gain. 15
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7. Explain the provision of income tax regarding

communication of pension and house rent allowance. 15
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8. (a) State the circumstances in which income of wife of an

assessee, are included in the assessee's total income.

(b) With whose income the income of a minor child is
clubbed ? 15
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9. Explain the provisions regarding carry forward of losses.
15
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